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Unit 7 Day 3 Notes on Challenge and Application Problems
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Simplify the polynomial. Then, name the polynomi and number of terms.
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5) What is the difference between Perimeter and Area?
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6) What is the formula for the following:

a) Area of a Square = s. S b) Area of a Rectangle = \ ‘W c) Area of a Triangle = LZ B.k
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Applications

Example 1: Write a simplified polynomial that represents the AREA of the shaded region.
Note: Diagrams are not drawn to scale.
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Example 2: Write a simplified polynomial for the AREA of the shaded region only
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